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QUESTION 1

Which statement about a functional interface is true?

A. It must be defined with the public access modifier.

B. It must be annotated with @Functionallnterface.

C. It is declared with a single abstract method.

D. It is declared with a single default method.

E. It cannot have any private methods and static methods.
Correct Answer: C

Reference: https://www.geeksforgeeks.org/functional-interfaces-java/

QUESTION 2

Given:

public class SerializedMessage implements Serializable {
String message;
LocalDateTime createdTime;
transient LocalDateTime updatedDateTime;;
SerializedMessage (String message) {
this.message = message;
this.createdTime = LocalDateTime.now() ;
}

private wvoid readObject (ObjocctInputStrcam in)
try |
in.defaultReadoObject () ;
this.updatedDateTime = LocalDateTime.now();
} catch (IOException |ClassNotFoundException e) {
e.printStackTrace() ;

}
When is the readObject method called?
A. before this object is deserialized
B. after this object is deserialized

C. before this object Is serialized
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D. The method is never called.
E. after this object is serialized
Correct Answer: B

Reference: https://www.oracle.com/technical-resources/articles/java/javaserial.html

QUESTION 3
Given:

1

Pun

ic class Main {
public static void main(Stringl[] args) {
var numbers = IList.of(1,2,3,4,5,6,7,8,9,10);

Optional<Integer> result = numbers.stream() .filter(x —> x $ 3 != 0) .reduce( (i,

—> 1+ J);
result.ifPresent {System.out::print); // line 1

Which is true about line 1?

A. If the value is not present, a NoSuchElementException is thrown at run time.
B. It always executes the System.out::print statement.

C. If the value is not present, a NullPointerException is thrown at run time.

D. If the value is not present, nothing is done.

Correct Answer: D

import java.util.*®;

import jova.io.*;

import java.lang.Thread;

mport jova.util.A~rayList;

import jova.util.LinkedlList:
import jova.util  list;

import java.util.function. Consumer;
& import jova.util.stream.S5tream;

9 import java.util.stream.IntS5trear;
18 import Java.util.Optianal:

SoFunop W

13 - public class Main {
public static void main{String[] args) {
15 var nunbers = List.of(1,2.3,4,5,6,7,8,9,1@);

[
I
i

1)

16 Optionol<Integers> result = numbers.stream().filter (x -> x % 3 != @) . reduce( (1, 1) -= 1 + JJ;

19 }
Result
CPU Time: 0.18 sec(s), Memory: 33380 kilobyte(s)

JDoodle in Action.... Running the program...
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QUESTION 4

Given the code fragment:

var pool = Executors.newFixedThreadPool(5);

Future outcome = pool.submit(() -> 1);

Which type of lambda expression is passed into submit()?
A. java.lang.Runnable

B. java.util.function.Predicate

C. java.util.function.Function

D. java.util.concurrent.Callable

Correct Answer: D

Reference: https://www.codota.com/code/java/methods/java.util.concurrent.Executors/ newFixedThreadPool

QUESTION 5
Given:

// line 1
List<String> fruits = new ArrayList«<>(List.of (“apple”, “orange”,”banana”)):
fruits.replaceall (function);

Which statement on line 1 enables this code fragment to compile?
A. Function function = String::toUpperCase;

B. UnaryOperator function = s -> s.toUpperCase();

C. UnaryOperator function = String::toUpperCase;

D. Function function = m -> m.toUpperCase();

Correct Answer: C
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import java.io.¥;

import java.util.¥;

import java.util.stream.Stream;

import java.util.function.Function;
import java.util.function.UnaryOperator;

class Hello {
public static void main(String[] args) {

UnaryOperator<String> function = String::toUpperCase;
List<String>fruita = new ArrayList<>(List.of("apple", "orange", "banana"});
fruits.replacehll(function);

}
}
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